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Аркан А 2 2 2 3 2 4 4 19 5
Бешляга В 2 2 2 3 2 4 4 19 5
Вахрушина В 2 2 2 3 2 4 3 18 4
Габрусев А 2 2 2 3 2 4 4 19 5
Грановская Д 1 2 2 3 0 4 2 14 34
Иваний А 2 2 2 3 2 4 4 19 5
Иванов И 2 2 2 3 2 4 4 19 5
Ким К 2 2 2 2,5 0 4 0 12,5 3
Кириченко В 2 2 2 3 2 4 4 19 5
Кулешова М 2 2 2 3 2 4 4 19 5
Майорова В 2 2 2 3 2 4 1 16 4
Макарова А 2 2 2 3 0 3 0 12 3
Малемина А 2 2 2 3 0 4 0 13 3
Мамедова Д 2 2 2 3 2 4 4 19 5
Мантуленко С 2 2 0 1 2 4 4 15 4
Матузкова Е 2 2 2 2 2 4 4 18 4
Мокшин А 2 2 2 3 1 4 4 18 4
Неволина П 2 2 2 3 2 4 0 15 4
Петренко В 2 2 2 3 2 4 1 16 4
Рогачева Л 2 2 2 3 2 4 4 19 5
Савинов И 2 2 1 3 0 4 3 15 4
Самохвалов В 2 2 1 3 2 4 3 17 4
Сахаров Д 2 2 2 1 2 4 4 17 4
Слепокурова М 2 2 2 3 2 4 4 19 5
Соболева Е 2 2 2 3 2 4 3 18 4
Тайракберов И 0 0 2 1 2 4 4 13 3
Трушина М 2 2 2 3 2 4 4 19 5
Чучукин  А 2 2 2 0 0 4 0 10 3
Шалыгина Л 2 2 2 3 2 4 1 16 4
Шейдякова Н 2 2 2 3 2 4 4 19 5
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